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qul No. ‘ ] ] l I ‘ ] | Answer Sheet No. -
Sig. of Candidate. Sig. of Invigilator. %/[L
BIOLOGY SSC-I

SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencll.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carrles one mark.

(i) Which of the following Bioelements is in the highest percentage in protopltasm?

A Carbon B. Hydrogen C. Oxygen D. Nitrogen
(i) Which of the following is not a characteristic of a good hypothesis?

A Must be consistent with all available data

B. Must be testabie

C. Must be correct

D. Must make predictions

(i) The function of Mitochondrion is:

A Lipids storage B. Protein synthesis

C. Photosynthesis D. Cellular Respiration
(iv) The major component of plant cell wall is:

A Chitin B. Peptidoglycan C. Cellulose D. Cholesterol
(v) A related group of generas form:

A order B. family c class D.  phylum
{vi) In which stage of cell cycle do most cells spend their lives?

A Prophase B. Metaphase C. Interphase D. Telophase
{vii) Prosthetic groups are:

A Requried by all enzymes B. Loosely attached with enzymes

c. Protein in nature D. Tightly bound to enzyme

(vii)  In which of the following steps of respiration is CO, produced?

A Glycolysis B. Krebs cycle

C. Electron Transport chain D. Al of these
(ix) In stomach pepsinogen is converted into: )

A Pepsin B. Bicarbonate C. HCl D. Gastrin
%) Ulcers occur in: '

A Stomach B. Duodenum C. Oesophagus D. All of these
(xi) Which of these are responsible for blood clotting'?

A Platelets B. Erythrocytes C. Neutrophils D. Basophils
(xiiy  Stomota close when guard cells: ,

A Lose water ‘ B. Gain chioride ions

C. Become turgid D. Gain potassium ions

For Examiner’s use only:

Marks Obtained:

Total Marks: E
]
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BIOLOGY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {(11x3=33)
(i) Define the following:
a. Genetics b. Biotechnology c. Entomology
(i) Quantitative Observations are better in biological method. How?

(i) What is meant by hypertonic and hypotonic solutions?

(iv) Describe the fluid mosaic model of plasma membrane.

(V) Differentiate between the terms extinct and endangered.

(vi) Define co-factor and co-enzyme.

(vii) Justify why viruses are excluded from five kingdoms system of classification.
(vitij  Describe lock and key model of enzyme action.

(ix) What structures and phenomena are involved in the intake of CO, and water by plants?

(x) What is the role of chlorophyll and light in photosynthesis?

(xi) How would you differentiate between bolus and chyme?

{xii) Define the Cohesion tension theory-

(xiii)  Define systole and diastole -

(xiv)  What are the two main types of white blood celis? How do they differ?
(xv)  Whatis the importance of organic and inorganic fertilizers in agriculture?

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Explain the structure and functions of Endoplasmic reticulum and Golgi apparatus? (1+2+2)
b. Outline the mechanism of respiration while defining glycolysis, Krebs cycle and electron
transport chain. {05)
Q.4 a Relate the importance of biodiversity with natural ecosystem through examples. (2+4)
b, Describe the structure and functions of stomach with labelled diagram. (04)
Q5 a. Contrast mitosis and meiosis emphasizing the events that lead to different outcomes. (04)
b. Which four chambers make the human heart and how biood flows through these chambers? (2+2+2)

—1SA 1510 (L)—
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Roll No. l ‘ l l | ‘ | Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
BIOLOGY SSC-I

SECTION — A (Marks 12) i

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) Which of the following group includes organisms all of which are absorptive in their nutrition?
A Protists B. Animals C. Fungi D. Bacteria
(i1) The scientific name of Frog is:
A, Rana tigrina B. Rosa indica C. Avenasativa D.  Brassica compestris

(iii) Mushroom is an example of:
A Bacteria B. Plants C. Animals D. Fungi
(iv) A related group of orders forms:

A genera B. family C. class D. phylum
(v) Which one is endangered specie in Pakistan?

A Star fish B. Indus dolphin C. Black buck D. Hangul
(vi) Rough endoplasmic reticulum is the area in a cell where are synthesized.

A Starch B. Proteins C. Lipids D. Nucleic Acid
(vii) The function of Centriole is formation of:

A Cyto skeleton B. Spindle fibres C. Enzymes D. ATP
(viii)  Which of the following stages of cell division is different for animal and plant cells?

A Metaphase B. Anaphase C. Telophase D. Cytokinesis
(ix) Induced fit model is proposed by:

A. De Duve B. Camillo

C. Daniel Koshiand D. None of these
(x) What is the end product of glycolysis?

A Carbon dioxide B. Water C. Alcohol D. Alcohol and Lactic acid

(xi) Which disease is caused by the deficiency of vitamin D?
) A Rickets B. Short sightedness

C. Less appetite D. Anaemia
(i) A patient with blood group ‘A’ can be given the blood of donor who has:

A. Blood group A or AB B. Blood group A or O

C. Blood Group A D. Blood group O

" For Examiner's use only:

Total Marks:

. o Marks Obtained:
—1SA 1510 (ON)y—

il

Biology Annual 2015 6



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

Rolil No. Answer Sheet No.

Sig. of Candidate; Sig. of Invigilator

CPYERT ERY R ST
(12/17;)() Jilo 2220 2

- LU G g B Sl ok ity o DL SpP LSS a2l S L oSy BV

e AL624 0 055 SE e L 11 Bl 1 G- 50N s 14 v
S Ll LS g S0l e L iir @

Vg ¥ R Sy
PR N 5 ()

J)«:/K{u -3 sl v Gl e ) T
sededaups i)

¢ - Ao b e - LR
ik NI N (Y

A o S g 2
te iAo |(Specie)Suis. W)

JE NS ) RN Fe
el e LnMia TSt S W)

yRIN e 2 - IV T Bl i
L _er¥kli e i)

gder b AE A
?.7__KL)J"':,/.Q:u»,;u_-!u,ﬁlg.lv/l.«uffuz;sdf {viii)

AR At PR A L
e ULty b (%)

UJ’;L}I-’—LJ:o;G» ) ze»%k“s = }’..f‘{ - TS
e YA AR x)

22 Gt o 3 Jodl g Qe ST i

*

‘e sl JISus )

Sbus -3 Sl ¢ 7717 S
Se bbb/ oW LA (i

ot L At e oA o ABALE L

L] i AN Tt

—1SA 1510 (ON)}-—-

Biology Annual 2015 7



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

BIOLOGY SSC-I 17

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=233)
0 Differentiate between Population level and Community level with examples.
(i) a. Define Taxonomy.
b. Draw the Taxonomic Hierarchy.
iii) Define binomial nomenciature and write its rules.

(iv) Write the functions of the following:

a. Golgi apparatus
b. Endoplasmic reticulum
c. Lysosomes
(v) What is muscle tissue and name its types?

(vi) Describe G2 phase.

vii) Apaptosis and Necrosis are phenomenan of cell death. Differentiate them.
viii)  What is the effect of temperature on activity of Enzymes?

ix) Write the main steps involved in Dark reaction.

X) Define fermentation and its types.

X,

(
(
(
(
(xi) What are dietry fibres and write their functions?
( What are the functions of Liver?

(xiii)  What is the difference between White blood cells and Red blood cells?
(xiv)  Describe the importance of transpiration.

(

XV) Name the parts labelied A, B, C, D, Eand F in the following diagram on your answer sheet:

SECTION —~ C {(Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q3 a Write in detail different phases of meiosis I. (08)
b. How is heart prevented? (02)
Q4 a Write mechanism of respiration. (2+4)
b. Wirite in detail structure of heart. Draw diagram. (04)
Q.5 a Who proposed the five kingdom system of classification? Explain it. (04)
b. Explain and draw the structure of chloroplast and write down its functions. (2+2+2)

—18SA 1510 (ON)—
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Roll No. [ | l L l | J Answer Sheet No. ? ]
Sig. of Candidate. Sig. of invigilator.
.CHEMISTRY SSC-l

SECTION — A (Marks 12)

Time allowed: 20 Minutes

7)

NOTE: Section-A is compulsory. All parts of this.section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

0]
(i)

(iii)
(iv)

v)
(vi)

(vii)
(viii)

(ix)
(x)
(xi)

(xii)

T.he number of moles in 46 gms of sodium (Na) will be:

A 1.5 moles B. 2 moles C. 2.5 moles D. 3 moles
The natural abundance of chlorine-35 is:

A 65% B. 25% C. 75% D. 95%
The correct electronic configuration of atom having atomic number ‘13’ is

A 182,28%,2P%,35%,3P? B. 152,28%,2P%,352,3P

c. 18%,2P%,38%,3 P D. 15%,28%,38%,3P°, 48"

The increase in ionization energy from left to right in a pericd is due to:

A Decrease in nuclear charge B. Increase in nuclear charge

C. Increase in shielding effect D Decrease in shielding effect
Which one of the following obeys Duplet rule?

A 0 B. N, C. F, D. H,
Which substance does not have ionic bond?

A CH, B. NaCl c. NaF D. MgO
Relationship “PV=Constant’ represents:

A, Avogadro’'s Law B. Boyle's Law

C. Charle's Law D. General gas equation

Which of the following substances is sublimate?

A. Sodium Carbonate B. Calcium Chloride .-

C. Ammoniu'm Chiloride D. Sodium Hydroxide

When Arshad dissolves 28 gms of KOH in 6ne (dm)* of water. Its molarity will be

A. 0.1 M B. 05 M C. 0.2M D. ™M
Oxidation number of Mn in KMnO, is: ’

A -2 B. +2 C. -7 D. . +7
S0, is oxide. ,

A Strongly basic B. Strongly acidic C. Weakly acidic D. Amphoteric
In chromium plating the  H,SO, is added to Cr,(SC,),in order to:

A increase electrolytic power ' B. Increase hydrolysis process
C. Prevent hydrolysis D. Make Cr neutra!

For Examiner’s use only:

Total Marks: - IZ]
Marks Obtained: :I
—1SA 1508 (L) —
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Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator:
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Time allowed: 2:40 Hours

CHEMISTRY SSC-I

¢s)

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibiy. (Graph paper may be provided).

0]
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viit)

(ix)

)
(xi)

(xii)
(xiii)
(xiv)
(xv)

Note:
Q.3 a
b
Q.4 a
b.
Q.5 a

Define Analytical Chemistry, Free Radical and Relative Atomic Mass.

Calculate the mass of

SECTION — B (Marks 33
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

2x10% molecules of water (H=1, O=16).

Write electronic configuration and period number of carbon (06), its group number is (04). Also write
electronic configuration and group riumber of Argon (18), its period number is (03).

Define Group and Period of the periodic table. What are called the elemerits of group VIli Aand why?
Why Electron Affinity increases along a period and decreases from top to button along a group?
Give three reasons of chemical bonds formition.

Describe the formation of Mg** cation with the help of electronic configuration and electron
dot structure.

What is difference between Dipole - Dipole Interaction and Hydrogen Bonding? Give one example for

each.

A bacterial culture isclated from sewage produces 36.4cm’ of methane (CH,) gas at 27°C and

760 mm Hg Pressure. This gas occupies 33.124¢cm’ at O °C and same pressure.
Explain volume - temperature relationship from this data. :
Define crystalline solids. Write two properties of crystalline solids.
Fill in the missing spaces:

Solute Solvent State of resulting Solution Examples
- Liguid - Soda water
Liquid Gas Gas -

Calculate the number of moles of solute presentin 1.25¢m’ of 0.5 M H, PO, solution.

Describe rules for assigning oxidation states.
Draw labelled diagram of a dry cell.
Keeping in view the decrease in Oxidizing power, complete the following equations:

a.

Fy +2KCl(uq) - b Clye, + KBrpy —

SECTION —- C (Marks 20)

Attempt any TWO questions. All questions carry equal marks.

Explain any three methods for the prevention of corrosion.
What Model of an atom was proposed by Rutherford? Describe this model. Also write defects in

b.

Clz(g) + Nal,,, —

(2 x 10 = 20)
(08)

Ruthorford's Atomic Model. (04)
Define solubility. Write a comprehensive note on effects of temperature on solubility of

different solutes. Alsc draw graph to support your answer. (07)
Write a note on allotropes of phosphorous. {03)
Write a comprehensive note an "Effects of External Pressure on Boiling Point of Liquids.” (C'S)
Define Isotopes. Write uses of Isotopes in our daily life. (05)

~—— 1SA 1508 (L) —
12
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Roll No. L I l J l l l Answer Sheet No. 7 -v

Sig. of Candidate. Sig. of Invigilator.

CHEMISTRY SSC-
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the questlon paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C / D. Each part carries one mark.

0] The number of moles in 54 gms of water will be:
A 2 B. 25 C. 3 D. 4
(i) Carbon has isotopes
A 2 B. 1 C. 3 D. 4
(iii) Which one is correct electronic configuration according to Auf Bau Principle?
A 18%,287,2P°,38* B. 18%,28%,2pP*,3587,3P*
C. 15%,2P%,35%,3P* D. 152,282,2P5,382,3P?
(iv) The electron affinity increases from left to right along a period, due to:
A Decrease in nuclear charge B. Decrease in atomic radius
C. Increase in atomic size D. increase in shielding effect
(v) NaCl forms colourless cubic crystal. Which of the following has also the same cubic crystal as NaCl
crystal?
A CsCl B. Ca(l, C. MgO D. MgCl,
(vi) Which substance is NOT covalent?
A H,0 B. HCN C. CaO D. Co,
(vii) 'V « T' Relationship represents:
A Boyle's law B. Charle’s law
C. Avogadro's law D. General gas equation
(viii)  Which one of the following substances is not sublimate?
A lodine B. Ammoniurﬁ chioride
C. Sodium chloride D. Benzoic Acid

(ix) A solution of NaOH contains 30 gms of this compound in }.5dm’ of solution. What is the Molarity of
' this solution?

A 02M B. 1M C. 075 M D. 0.5M
(x) Oxidation state/number of 'Cr' in K,Cr,0, is:
A -14 B. -6 C +6 D. +2
(xi) In chrome plating, the compound used as electrolyte is:
A Only H,S0, ‘ B. Cr(S0,),
C. Cr,(8S0O,); and some drops of HC/  D. Cr,0,
(xiiy  ALO, is an example of oxide.
A. Strongly acidic B. Basic C. Weakly Acidic D. Amphoteric

For Examiner’s use only:

Total Marks:

Marks Obtained:
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CHEMISTRY SSC-I

&

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet—B if required. Write your answers
heatly and legibly.

SECTION — B (Marks 33
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) Define Biochemistry, Element and Molecutar ion.
(i) Calculate the mass of  3.24x10"™ atoms of iron. (M. Mass of Iron=56).
(iii) Write electronic configuration, group number and period number of the following:
33 3 '
a. . Cl b 6 S
(iv) Write names of Blocks of Periodic Table, also write names of Halogen group elements.
(v) Shielding effect increases from top to bottom along a group and remains the same along a period. Why?
(vi) Why do group VIl A elements have very less number of compounds? Give reasons.
(vii) Write any four types of bonds and define any one of them.
{viliy  Write any three properties of lonic compounds.
(ix) Give reasons for the following.
a. Why are gases highly compressible?
b. Why do gases have relatively fow densities under normal conditions?
(x) Give reasons:
a. Why do solids have relatively higher densities?
b. Why do lonic compounds have higher meiting points than Molecular solids?
(xi) Fill in the missing spaces:
Solute | Solvent State of resulting Solution Examples
Gas Solid Solid -
Solid - - Carbon particles in air
(xi)y  Calculate the new molarity when 100cm’ of water is added to 100¢m’ of 0.5M HCI .
(xifi)  Identify Reducing agents from the following:
a. Fe,0,+3C0O - 2Fe+3C0,
b. WO, +3H, > W +3H,0
(xiv)  Define Electroplating. Also write conditions for good electroplating.
(xv) What are Noble metals? Give four examples.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Define Molecuiar Mass. Calculate Molecular masses of C,,H,; and (NH,),CO (03)
b. Oxygén is converted into Ozone (0),) during thunderstorms. Calculate the mass of
Ozone if 7.25 moles of Ozone are formed in a storm. (03)
c. Describe the presence of sub-shells in shells. (04)
Q.4 a Describe method of recovering metals from their ores with examples. (06)
Write any four properties of Metals. (04)
Q.5 a Write a note on “Solutions of Solids". (08)
) b. What is Zinc Plating? Write complete Process of Zinc Plating. (04)
Chemistry Annual 2015 16
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Sig. of Candidate. Sig. of invigiiator.

...........................................................................................................................................................................

COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes
NOTE:

Section-A is compuisory. All parts of this section are to be answered on the question paper itseif.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use Iead pencii.

Q.1  Circie the correct option l.e. A/ B/ C I D. Each part carries one mark.

(i) The first computer that used vacuum tube was:

A MARK-| B. ENIAC C. EDVAC D. UNIVAC
(i) Integrated circuits (ICs) were used in generation of computer:

A First B. Second C. Third D. Fourth

(it Which of the following is / are example(s) of super computer?

A CRAY-1 B. CRAY-2 C. CYBER-205 D. All of these

(iv) An 8-bit address bus can address 2 memory of :

A 1-Byte B. 8-Bytes C. 256-Bits D. 256-Bytes
) Which of the following is a semiconductpr memoty?

A ROM B.  RAM C.  PROM D.  Allofthese

(i) Which of the following printer requires a special heat sensitive waxy paper?

A Electrostatic  B. Inkjet C. Electrothermal D. Laser
{vii) Which of the following is not a pointing device?

A Mouse B. Joystick C. Trackball D. None of thése

(vii)  The number of colours a CGA monitor displays is:

A 4 B. 16 C. 64 D. 256

(ix) Which of the following is not an executable DOS command?

A CLS . B. REM C. REN D coPY
(x) The nﬁmBe‘r of mouse actions with two button mouse is:
A 3 . . B 4 C. 5 . D 6
(xi) By default, MS-Word automatically saves your document after'every _ minutes.
A . 5 B. 10 o 15 ' D. 30

(xi)  Which of the following keyboard short-cut key is used to double underline the selected text?

A Ctri+g B. Ctri+u C Ctri+shift+w D. Ctri+shift+d
For Examiner’s use only: -t
Totai Marks: IE
Marks Obtained: . \:j
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.+ COMPUTER SCIENCE SSC-I

Time éllowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 27)
Q.2 Answer any NiNE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)
(i) Wirite any three characteristics of a computer.
(i) What will be the features of Fifth generation of computers?

(i) Write difference between software and hardware.
(iv) What is meant by 4GL (Fourth Generation Languages)?
(V) Briefly describe a motherboard.
(vi) Describe mainframe computer and its uses.
(vii) Write briefly about Floppy Disk Drive.
(viii)  Write the difference between Dot-Matrix and Laser printer.
(ix) a. What is ROM?
b. How do PROM and EPROM differ from each other?
(x) Write the purpose and suitable example of any two of the following DOS commands:

a REM b. DELTREE c. XCOPY
(xi) Define mouse and write down its four events briefly.
{xii) Define the purpose of the task bar in MS-Windows.
(xiii)  What is meant by the term word wrap in MS-Word?

SECTION — C (Marks 16)

Note: Attempt any TWO questions. All questions carry squal marks. (2x 8 =16)

Q3 a Why is DOS cailed Disk Operating System? Also write its major tasks. 4)
b. Why is DOS divided into two types of commands (internal and external)? Explain it. 4)

Q.4 a What is the difference between digital and hybrid computers? (4
b, Write steps to avoid viruses from computer. (4)

Q5 a. What is internet? Describe its importance in society. (4)
h. What do you mean by indenting a paragraph in MS-Word? Explain it. (4)

—ISA 1512—
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ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(iii)

(iv)

(vi)

(vii)

(vii)

(ix)

()

(xi)

(xii)

(xiii)

(xiv)

Oev)

On one occasion, the Arabs sent a to the Holy Prophet's (PBUH) kind and caring uncle.
A Gift B. Delegation C. Camel D. Herd of sheep
The word patriot comes from the word ‘patriota’.

A Greek B. French C English D. Latin

She simply posed a counter question that infuriated Abu Jehl. The underlined word means:

A Pleased B. Helped C. Enraged D. Amused

The most important element in the interior of the Sultan Ahmad Mosque is the:

A. Mehrab B. Pulpit C. Tile D. Royal room

Drug addiction is caused by factors.

A. Medical B. Biclogical C. Environmental D. Political

The students eagerly attended Miss Ayesha’s class. The underlined word is a/ an:

A Adverb B. Noun C. Pronoun D. . Adjective

“We are a nation”, he affirmed three years before the birth of Pakistan. The underlined word means:
A Told B. Broke in C Refused D. Said emphatically
On the first day, after getting ability to see, Helen Keller would like to see:

A Friends and relatives B. Trees and plants

C. Rain and clouds D. Past and Present of the worid

book, he wants, is out of print.
A a B. An C. The D. None of these
Though he is rich yet he is not arrogant. The underlined word is a/ an:

A. Verb B. Conjunction C. Adverb D. Interjection
He was not aware my difficulties.

A On B. About C. To D. Of

Night came on and room grew dark. Itis a

A Simple sentence B. Complex sentence

C. Compound sentence D. Compound complex sentence

He proved himself a lion in the fight. This sentence is an example of::

A. Simile B. Metapher C. Personification D. Alliteration
This is the only thing that | can do for you. The underlined word is a:

A, Personal pronoun B. Relative pronoun

C. Demonstrative pronoun D. Reflexive pronoun

Choose the CORRECT spelling:

A Rahabilitation B. Rehabeletation

C. Rehabilitashun D. Rehabilitation

For Examiner’s use only:
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ENGLISH COMPULSORY SSC-I é>
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION ~ 8 (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

(6x3=18)
0] What was the first revelation?
(i) How does media provide entertainment?
(iii) Write three qualities of the nurse described in the story “All is not Lost”.
(iv) What was the Quaid’'s concept of our nation?
(v) Why was a heavy iron chain hung at the entrance of the court?
(vi) What harmful effects is noise pollution causing on human health?
(vii} How do you get an impression that Hellen Keller was a great admirer of Nature?
(viii)  What are the causes of drug addiction?
Q.3 a. Paraphrase any ONE of the foliowing stanzas: {03)
() For oft, when on my couch ! lie, (i) He gives his harness bells a shake.
In vacant or in pensive mood, To ask if there is some mistake.
They ftash upon that inward eye The only other sound’s the sweep
Which is the bliss of solitude, Of easy wind and downy flake.
And then my heart with pleasure fills,
And dances with the daffodils .
b. Read the foilowing stanza carefully and answer the questions given at the end: (06)
My little horse must think it queer
To stop without farm house near
Between the woods and frozen lake
The darkest evening of the year.
Questions:
(i) Why does poet's horse think it strange to stop there?
(i) Where does the poet plan to stop?
(il What type of evening was it?
Q.4 a. Change the Voice of any FOUR of the foliowing: (04)
(1) The boy makes the picture.
(i) She gave me five films.

(iii) The students were being taught by her.
(iv) Why is he mending the chairs?

(V) Media helps people to share knowledge.
(vi) He had told me to do it.

(vii) Did they catch the thief?

English Compulsory Annual 2015 23
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b. Pravide correct form of Verb in any FIiVE of the following sentences:
(i) it (rain) in winter every year.
(i) Are they (sit) idle?
(iit) The baby (cry) for milk now.
(iv) 1 (wait} here for two hours.
(v) | already (post) the letter.
(vi) She (leave) before the party began.
(vii) They (write) their exercise by the time the teacher arrives.
(viii) My brother (not write) to me for ten years.
c. Punctuate and capitalize the following para / line(s):
She covered it with a piece of cloth come grandfather, look he has left all this for us

SECTION - C {(Marks 21)

Q.5 Write aletter to your father asking him about the heaith of your mother.
-OR-
Write a letter 1o your friend condoling the death of his / her father.

Q.6 \WWrite a paragraph of about 50 to 70 words on “ A Dream”.

Q.7 Translate any EIGHT of the following sentences Into English:

UGl 3 e 2 WY NN

-L;Q/e)ulilcgbf -6 -tﬁ)'b&.ﬁ_}v -5 -‘4}15162’::{

Kol e U ur? -9WGLCd e U -8 te Fbudl ;fu_‘"7

o lrde ifiny 12 dndoyibum 11 s P
-OR-

Write a dialogue between a student and a teacher on "Punctuality”
-OR-

Write a dialogue between two students regarding prayers.

— 1SA 1501 (L) ~—
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Sig. of Gandidate. Sig. of Invigilator. -

...........................................................................................................................................................................

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) A true patriot loves his:

A Parents B. Sibs C. Country D. Possessions
{ii) Media provides us information as well as:

A Entertainment B. Electricity C. Terrorism D. Residence
(i) Hazrat Asma (RA) sold the inherited after the death of her sister.

A House B. Land C. Jewellery D. Garden
(iv) The Sultan Ahmad Mosgque is aiso known as Blue Mosgue because of its blue:

A Flowers B. Tiles C. Water D. Tomb
V) Which of the following is NOT caused by noise pollution?

A Aggression B. Hypertension C. Depression D. Dengue fever
(vi) Drug addiction is caused by:

A Medical factors B. Biological factors

C. Environmental factors D. Political factors

(wii} Keep up your morale. The underlined word means: .
A Wealth B. Self-esteem C. Voice D. Flag

(wiii) It was so delicate situation. The underlined word means:

A Difficult B. Easy C. Sensitive D. Fragile
(ix) The wind whispered the rumours of the forest. This sentence is an example of:

A Simile B. Metaphor C. Personification D. imagery
(x) He is the young man whg saved my life. The underlined word is a / an:

A Personal pronoun B. Indefinite pronoun

C. Reflexive pronoun D. Relative pronoun
(xi) He is worse than his brother. The underlined wordis a / an:

A Positive degree B. Comparative degree

C. Superlative degree D. Adverb of manner
(xif) She introduced me her friends. -

A To B. With C. Of D. At
(xiii)  She was singing beautifully at a concert. The underlined word is an:

A. Adverb of place B. Adverb of time

C. Adverb of manner D. Adverb of frequency
(xiv) He is rich, yet he is not happy. This is a:

A Simple sentence B. Compound sentence

C. Complex sentence D. Compound complex sentence
(xv) Choose the CORRECT spelling:

A Convolutions  B. Convolushuns C. Convoleutions D. Convalutions

For Examiner’s use only:

» Marks Obtained:
—— 1SA 1501 (ON) ——
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ENGLISH COMPULSORY SSC-I
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
(i) Why was the Holy Quran sent in Arabic?

(i) What are the gualities of a patriot?
(iii) What type of information does media provide to the people?
(iv) How did Hazrat Asma (RA) console her grandfather?
(v) Why did the Quaid have to take long tours during early days of independence?
(vi) Why is Sultan Ahmad Mosque also known as Blue Mosque?
- (vii) What are the causes of drug addiction?
(vii)  Why is noise dangerous for human health?
Q.3 a Paraphrase any ONE of the following stanzas: (03)

(i) Continuous as the stars that shine (i) Whose woods these are | think | know.
And twinkle on the milky way, His house is in the village though;
They stretched in hever—ending line He will not see me stopping here
Along the margin of a bay: To watch his woods fill up with snow.

Ten thousand saw | at a glance,
Tossing their heads in sprightly dance.
b. Read the following stanza carefully and answer the questions given at the end: (06)

The waves beside them danced, but they
Out-did the sparkling waves in glee;

A poet could not but be gay,

In such a jocund company!

I gazed - and gazed —but little thought
What wealth the show to me had brought:

Questions:

(i) How did daffodils out do the dancing waves?
(i) What can a poet do in such a company?
(i) Write the meanings of underlined words in English.

Q.4 a Change the Voice of any FOUR of the following: (04)

(i) They caught the thief.
(i) He had told me to do it.
(iii) Do we use milk for making cheese?
(iv) The picture is made by the boy.
(v) Do it at once.
English Compuyiaipry ARUhRdROSEe write such a letter? 26
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b. Provide correct form of Verb in any FIVE of the following sentences:

(i) He (go) to school every day.

(ii) She (learn) French for two years.

(iii) Attiva (go) to school an hour ago.

(iv) The match started after | (leave) the school.

v) | (see) him the next Thursday.
(vi) | (finish) writing this novel by June next year.
(vii) | shall take you round the fields when you (take) some rest.

(viii) He (stand) in the sun for an hour.

c. Punctuate and capitalize the following para / line(s):

a fellow nurse came near me and asked rahila, what are you doing? fighting a lost battle?

SECTION — C (Marks 21)

Q.5 Write a letter to your friend congratulating him/ her on the marriage of his / her sister.
-OR-
Wirite a letter to your friend thanking him / her for the books he / she lent to you.

Q.6  Write a paragraph of about 60 to 70 words on “How to Keep Our Town Clean”,

Q.7 Translate any EIGHT of the following sentences into English:

vty 3 ewduSlSiy 2 gl Jo bz thaluns

2

w /P e e Gahigelf 5 e e iy Tug

oS UFe it 8 SELsyi ey 8 Wl phowies

L Uyl‘aJlaru.?Uécﬂrru -12 ?b‘ﬂﬁl‘abﬁ/..f:(d)? -1 9£ux‘¢zuu[{-'-
-OR-

Write a dialogue between a brother and a sister concerning time.
-OR-

Wiite a dialogue between a tailor and a customer.

—— 18A 1501 (ON) —
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Roll No. L lJ l ‘ | 7 Answer Sheet No,

Sig. of Candidate. Sig. of Invigilator. @

...........................................................................................................................................................................

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed In the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) The Holy Prophet (PBUH) took radical steps to eradicate

A slavery B: child labour C. learning D. usury
(ii) The battle of Yermuk continued for dayg)
A one B. three C. five D. seven
(iii) Farmers, handicraft warkers and ordinary vendors belong to the:
A villages B. rural areas C. urban areas D. BothA and B
(iv}) in China, the shops remain closed on day of the New Year.
A first B. second C. third D. seventh
(v} The poet wandered lonely as a cloud. Which of the following words is NOT the antonym of the
underlined word?
A Moved without aim B. Moved with aim
C. Ran at full speed D. To went for visit

(vi} What is the main cause of pollution?

A Fast growing population B. Factories and industries

C. Smoking vehicles D. All of these
(wii) In summer, there is so much work for the bees to do that they only live for weeks.

A two to three B. three tofour C. four to five D. five to six
(vi)  Islam had been a dominant force in Spain for about hundred years.

A six B. eight C. nine D. twelve
(ix) Which calendar starts on the 1% of January?

A Christian B. Gregorian C. English D. All of these
(x) Choose the CORRECT spelling:

A Manifestation B. Manifestion C. Menifestation D. Menifestion
(xi) “That is a fault that will right itself’. The underlined word is a/an:

A noun B. verb C. adverb D. preposition
(xif) “There was a philosopher who chose to live in a tub”. What kind of sentence is it?

A Compound sentence B. Complex sentence

C. Imperative sentence D. Optative sentence
(xiii)  Which of the following is NOT a sentence?

A The singing of the birds delights us B. It was a sunset of great beauty

C. The tops of the snow mountain D. The rose is the king of flowers
(xiv)  "Heis vain his attainments”. Choose the correct Prepaosition.

A at B. with C. of D. on
(xv) “She has been visiting Europe since her childghood”. What tense is it?

A Present continuous B. Present perfect continuous

C. Present perfect D. Past perfect continuous

For Examiner’s use only:

Total Marks:

D
Marks Obtained: D
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ENGLISH COMPULSORY SSC-i
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions of Sections ‘B’ and ‘C’ on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks. 18)
(6x3=
i What condition was imposed on the prisoners of the battle of Badr?
(i) How did the woman earn her God's forgiveness for her previous sins? (Refer to the lesson “Kindness
to the Living Things”).
(iii) What did the Prince describe to the master when he returned from the forest after a year?
(iv) What is self~employment and why should women work?
V) Why do chifdren keep awake to welcome the New Year? (Refer to the Iesson “The Chinese New Year”)
{vi) What do the worker bees do?
{vii) Why should we clean our teeth after meals instead of before meals?
{(vii)  What are the main causes of traffic accidents? (Refer to the lesson, “Road Safety”).

Q.3 A Paraphrase any ONE of the following stanzas: (03)
{i) Yet,of the dark | have no fear, (i) But Rebecca recollected,
But feel as safe as when it's light; She was taught deceit to shun,
For | know God is with me there, And the moment she reflected,
And He will guard me through the night. Told her mother what was done;
B. Read the following stanza carefully and answer the questions given at the end: (086)

Exceeding peace had made Ben Adhem bold,
And to the presence in the room he said,

“What writest thou?” The vision rais'd its head,
And with a look made of all sweet accord,
Answerd, ‘The names of those who love the Lord,’

Questions:

) Which poem have these lines been taken from? Also write the name of the poet.
(i) Which thing made Abou Ben Adhem bold?

{iii) What did Abou ask from the angel?

Q.4 Change the voice of any FOUR of the following: (04)
(N Your behaviour vaxes me. (i) Do not insult the weak.
(iii) Who taught you English? (iv) They were buying this house.
(V) A sound was not heard by us. (vi) We shall have killed a shake.
(vii) Why is he mending the chair?

Q.5 Use any FOUR of the following phrasal verbs in sentences: (04)
(i) Bear away (i) Callup (i) Get through {iv) Go upon
(v} Pick out (vi) Pull down (vii) Throw up

Q.6  Punctuate and capitalize the following: (04)

Rawalpindis only exclusive park for women the Fatima Park in satellite town B-Block is facing
administrative and financial crisis.

SECTION - C (Marks 21)

Q.7  Write a letter to your friend condoling over the death of hisrher mother. (08)
-OR-
Write an application to the Principal of your school for leave due to sickness.

Q.8 Write a paragraph of about 50 to 70 words on “A Street Quarrel” with the help of the following word bank:
main street — terrible noise — crowd of people - violent blow — Pool of blood — old enmity — Sad spectacle (08)

Q.9 Translate any FIVE of the following sentences into English: (05)

L Sl i) —pEpBA ) BTy SR
?iuﬁ"éﬂluf-’é (vi) -(g/'/hl.:‘.Zu/;’u (V) _L)/Clﬁ‘laz:_)?l:@;li_.‘jf (iv)

Ce M LW (i

-OR-
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Roino. | | | | | | | Answer Sheet No. /7

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

ISLAMIYAT COMPULSORY SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A Is compulsory. Ali parts of this sectlon are to be answered on the question paper Itself.
it should be compieted in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) What does "Asateer ul Awaleen” J-'-/:Uf/,}w mean?

A The kids’ stories B. The women's stories

C. The pervious people’s stories D. The adults’ stories
(i) The meaning of * rL_JJ ” s

A For reconciliation B. For war

C. For conversation ) D. For betterhood
(i)  Complete it PRSI Y ;JLJL

A Al-Jihad B. Al-Qital C. As-Salat D. Az-Zakat
(iv) Allah has not created hearts in a man.

A. Two B. Three C. Four D. Five
(v) The meaning of Uswa-e-Hasna i g is:

A His (PBUH) example B. The best example

C. Good example . D. First example
(vi)  Whatdoes Sira Jan Muneera e ol mean?

A Lighted day B. Lighted morning C. Lighted lamp D. Lighted life
(vii) In Surah al-Mumtahenah ;4 T whose example is said to be obeyed?

A Hazrat |brahim (AS) B. Hazrat Ismail (AS)

C. Hazrat Mosa (AS) D. Hazrat Isa (AS)
(viiy A Y  "means:

A. They (women) will not share in oneness of God

B. They (women) will not steal

C. They (women) will not do backbiting

D. They (women) will not do bad deeds
(ix) According to hadith, there are principles for completion of faith.

A Two B. Three C. Four D. Six
(x)  Translation of c#tllabeesplaadl o

A Prayer is base of deen B. Prayer is piliar of deen

C. Prayer is wealth of deen D. Prayer is roof of deen
(xi) The Quran the other holy books.

A Confirms B. Rejects C. Explains D. Revises
(xil) Man is superior than other creatures due to:

A Wisdom B. Revelation C. Knowledge D. Sight
(xi)  How many actions are obligatory in ablution?

A Two B. Three C. Four D. Five
(xiv)  Whois called by Allah - *,Jgf' in the Holy Quran due to His Patience?

A Hazrat Ibrahim (AS) B. Hazrat Noch (AS)

C. Hazrat Ayub (AS) D. Hazrat Daud (AS)
(xv)  The Holy Quran has called matrimonial relation as:

A Nikkah B. Ehsan C. Mehr D. Zuaj

For Examiner’s use only:
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Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {(Marks 38
Q.2 a. Transiate any TWO of the following Quranic Verses: (2x4=8)

AR, caz3 3 ANEIATS 2 AR WY . 158 523 43 K Aysasa A i
Aabb (B HLS 03851 OIRERTS ol Bl g LIS B 0T eS Jeid O
Y5 Gl 5 EsT T s Gkt KoV SV SEIVIGe S Syl ALY (i)
ATTEAA B e A (A A
€\ b “ s <3 0sfrz s w S 2 s 2w s 'tz P K ) 2T PR HH
OLAEI KL 5 203538 &F 30 a2 X559 53 5 Aot g ST oo 2 i 2Ky i
| © bl &g Qi
b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR underiined words: (4 x 2 =8)

0 SRR I oot B i e TSNS 5 8 O

TYranslation:
For the worst of beasts in the sight of Allah are the deaf and the dumb those who understand not

BI2aS A S BT GSNEE @

-

) Transiation:
O Prophet! Truly We have sent thee as a witness, a bearer of glad tidings, and a warner.

c. Write short answers to any SIX of the following questions: (6 x2=12)
(i) Which event is pointed out in the given verse? Gjﬂ'&ﬁ\él,‘.’,ﬁé i3
(i) What instructions are given in Surah ai-Anfal about the distribution of booty?

(iii What special order is given in Surah al-Ahzab about divorce?
(iv) According to Surah al-Mumtahenah for what reasons are the believers forbidden
to make enemy of Islam their friends and trusty.
(v) Wirite down any two bad effects of bribe on our society.
(vi) What does Patience mean?
(vii) What is meaning of JQ (thanks)? How many ways are there to express thanks to Allah?
Q3 Translate and explain any TWO of the given Ahadith and describe how they are
related to our practicai life: (2 x5=10)
lisinyileall bl y alll Y1 Y Jlee Wi Juiasl (i)
NVENL s 3505 Amazed) p g ol Lald ) dali (i)
ool Gl e el s (iii)

SECTION - C (Marks 22)

| Note: Attempt any TWO questions. All questions carry equal marks. (2 x 11 =22)

'Q. 4 a. Wrrite a note on the introduction of the Holy Quran. (06)

. b. Why is the obedience of the Holy Prophet (PBUH) compulsory? (05)
Q.5 Describe the meaning of Zakat. Write a comprehensive note on the uses of Zakat in the light of the

' Holy Quran. (11)

, Q.6 a Write a note on family life. (05)

b. What is meant by Migration? What good news in Surah Al-Nahl does Allah give to those
) Islamiyat Compulsory Annual 2015 32
who migrate in the cause of Allah? (C6)
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Roll No. [ I [ 1 I ] J Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
MATHEMAT]CSSSC—| ........................................................
SECTION — A (Marks 15)
Time allowed: 20 Minutes (Science Group)

NOTE: Sectlon-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1  Circle the correct option i.e, A/ 8/ C/D. Each part carries one mark.

0 - 01

S ] ] T (1 L [

@  In 335 the radicand is:

M X+ [“ ‘2]= [‘ "] . then X is equal to:

A 3 B. 1 C. 35 D. None of these
(iii) The logarithm of any number to itself as base is:

A. 1 B. 0 C. -1 D. 10

2 ;2

(v} Z-is equalto=?

A. (a—b)2 B. (a«z-b)2 C. a+b D. a-b
(v) Factors of 3x” - x-2 are:

A. x+1),(3x-2) B. (x+1).03x+2y C. x-,3x-2) D. (x=1,(3x+2)
(vi)  The product of two algebraic expressionsisequaltothe ___ of their HCF and LCM.

A Sum B. Difference C. Product D. Quotient
(vii) Log p - logq iS Same as:;

A log % B. log(p-¢q) C. 1’—‘;%5 D. log -g

(viii)  |f the capacity ‘ ¢ ' of an elevator is at most 1600 pounds then:
A c<1600 B. c>1600 C. c<1600 D. c>1600

(ix) Point (2, -3 ) lies in the quadrant:

A i B. 11 C. 111 D. v
(x) Distance between the points (1,0)and (0, 1) is:
A 0 B. 1 C. 2 D. 2
(xi) The right bisectors of the sides of an acute triangle intersecteachother__~ thetriangle.
A Inside B. Out side cC Beside D. On
(xii) An equilateral triangle is a/ an triangle
A Scalene B. Right angled C. Obtuse D. Equiangular
(xiii)  Which one of the following sets of lengths can be the lengths of the sides of a triangle?
A, 2,3,5 B. 3,45 C. 2,4, 7 D. 4,37
{xiv)  Which of the following measurements of the sides are right angled?
A 2,35 B. 43,5 C. 2,37 D. 1,2,3
(xv) Triangle on equal base and equal altitudes are equal in;
A Size B. Lengths C. Area D. Volume

For Examiner’'s use only:

' Total Marks: E
[ ]
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Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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MATHEMATICS SSC-
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logarithm table and graph paper will be provided on demand.

SECTION ~ B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
2 3
: . : . 2 -1
(i Muitiply the following matrices | 1 1 3 0
0 -2 | .
(ii) Solve the following system of linear equations by the Cramer's Rule 2x+y=3 , 6x+5y=1

1L 1
o e (2)3x(27)3x(60)2
@ity  Simplify '("_1(_");1(_)1'
(180)2x(4) 3 x(9N4
(iv) Solve the foliowing for real x and y: (3—-2{)(x+ i) =2(x—2yi)+ 2i -1
(V) Evaluate log 512to base 2\/5

(438)°/0.056

(vi) Use log table to find the value of preeE

= 12V3—554
(vii) Evaluate = forx=4, y=-2and z=-1,

(viily  If x+1=3 then find the vaiue of x’ +-%
X

H : : 1] 1] l [ \/S ~1 "/3+] _—
(ix) Determine the rational numbers ‘a‘ and ‘b * if NPT + N —a+b\/§
(x) Without actual long division determine whether (x—2),(x+3) and (x —4) are factors of

g(x)=x>+2x* ~5x+6
(xi) Factorize x> +48x —12x% —64 .

(xii) Use division method to find HCF of x* +x* — 2x? +x-3, 5x° +3x2 =17x+6.

2 2
(xiiy  Perform the indicated operations and simplify to the lowest form: ’2’*—""2x —‘—2“—;
X —XxX— X

(xiv)  Find the square root of 4 + 25x% —12x—24x> +16x*.

(xv) Solve and check for extraneous solution, if any P2x+3= %/x-—Z

(xvi) Solve 3(2x+1)-2(2x+5)<5(3x-2).

(xvii)  Find the vaiue of ‘'m ‘and ‘ ¢ ‘ by expressing 3—2x+ y =0 in the form of y=mx+c
(xviii) Solve the equations graphically x+ y-1=0,x—y+1=0.

SECTION -~ C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 = 24)

Q.3 The vertices of a triangle are P(4,6),0(-2,—4)and R(-8,2). Show that the length of the line segment joining
the mid points of the line segments PR and @E 1s%|-1_’_é| .

Q.4  If two opposite sides of a quadrilateral are congruent and parallel, it is a parallelogram.

Q.5 From a point outside a line, the perpendicular is the shortest distance from the point to the line.

Q.6 If the square of one side of a triangle is equal to the sum of the squares of the other two sides, then the triangle is
a right angled triangle.

Q.7 Constructa AXYZ,mﬁ =4.5¢m,mYZ =3.4cm and ZX =5.6¢cm . Draw its medians and show that they are
concurrent.
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: 0";‘ Roll No. | l ‘ l [ ‘ ‘ Answer Sheet No. é@\

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

21
(i) Order of transpose of o 1S
3 2
A 3-by-2 B. 2-by-3 C. 1-by-3 D. 3-by-1-

(ii) Real part of 2ab(i +i%)is:

A 2ab B. —2ab C. 2abi D. —2abi
(iii) The logarithm of any number to itself as base is:

A 1 B. 0 C. -1 D. 10
{iv) 4x +3y -2 is an algebraic:

A Expression B. Sentence C. Equation D. In equation
(v) The factors of x% —5x+6 are: .

A x+1,x—6 B, x-2,x-3 C. x+6,x-1 D x+2,x+3

(vi) LCMof a®+5* and a* - b'is:
A a* +b? B. a*-p* C. a* - p* D. a —-b
1.2
iy  (27x7)3 =2
32 \/_3 32 \/_3
X
A b 5. 4 ¢ % S
(viii)  If x is not longer than 10, then:

A x>8 B. x<10 C. x <10 D. x>10

(ix) Point (—3,-3) lies in the quadrant:

A 1 B. 11 C. 11 D. v

(x) Midpoint of the points (2,-2) and (-2,2) is: ‘ ‘
A 2,2) B. (-2,-2) C. (0,0) D. (1,1

{xi) The right bisectors of the sides of an obtuse triangle intersect each other the triangle.
A Inside B. Outside C. Beside D. On

(xii)  The sum of the lengths of any two sides of a triangle is then the length of the third side.
A Smaller B. Half C. Greater D. Twice

(xii)  Two points determine a line segment and three non-collinear points determine a:
A Line B. Rectangle C. Plane D. Circle

(xiv)  Let‘c’ be the longest of the sides a, b and ¢ of the triangle then if a* +b* > c? then the triangle is:
A Acute B. Obtuse C. Right D. Scalene

(xv) Parallelogram on the same base and between the same paraliel lines are equal in:
A Size B. Area C. Volume D. Perimeter

For Examiner’s use only:

Total Marks: E
]
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Roli No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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6D

MATHEMATICS SSC-I
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly. Logarithm tables and graph paper will be provided on demand.

SECTION - B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
_ 2 4 1 b 7 10 )
(i) if 2 +3 = , then find a and b.
-3 a 8§ —4 18 1
(ii) The length of rectangle is 4 times its width. The perimeter of the rectangle is 150 cm. Find the dimensions

of the rectangle. (Use Cramer’s Rule).

g a+b b b+e o \C+a
(i) Show that (‘—b) x(x_) x(z_) »
X

xC o

: 7 _ 4-3i
(iv) Solve Z+Z for Z =77

(v) Find the vaiue of x from log64 8=4%

¢ (1.23)(0.6975)

(vi) Use log tables to find the value o 0.0075,1278)

(vii) Reduce the following rational expréssion to the lowest form %
ity  fm+n+p=10 and mn+np+ mp =27, find the value of m*+n’ +p2
(ix) If x=2+\/§ , find the value of (x—%) and (x——i—)2
{x) Factorize (x + 2)(x +3)(x +4)(x+5) 15

(xi) For what value of ‘m' is the polynomial P(x) = 4x> —7x? +6x—3m, exactly divisible by (x+2)
(xii)  Use division method to find H.C.F of x° +3x* =16x+12 and x° +x* —10x+8

R
2 Bx415  x2-4x+3  x1-6x+5

(xii)  Simplify as a rational expression:
(xiv)  Find the square root of 4x* +12xy + 9y2 +16x+ 24y+16 by division method
(xv) Soive the equation %(x—%)+%=%+—§—(—%—3x)

(xvi) ~ Solve 322zl |

{(xvii)  Find the value of ‘m’ and ‘c' by expressing 2x+3y~1=0 intheformof y = mx +c¢
{xviii} Solve the equations graphically x—y+1=0 and x-2y=-1

SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3 1fO0,0),A(3,0)and B (3, 5) are three points in the plane, find A, and M, as mid points of the line segments
AB and OB respectively. Find |M]M2|

Q.4 In any correspondence of fwo triangles if one side and any two angles of one triangle are congruent to the
corresponding sides and angles of the other then the triangles are congruent (4.5. 4= 4.5.4).
The point on the bisector of an angie is equidistant from its arms.

Q5
Q.6 In aright angled triangle, the square of the length of hypotenuse is equal to the sum of the squares of the length
of other two sides.

Q.7  Construct APQR,mE =b6cm, m-Q_R =4.5¢cm and mPR =5.5cm . Draw its altitudes and show that they are
concurrent.
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Roli No. I [ L T L | | Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
MATHEMATICS SSC-I

Time allowed: 20 Minutes

SECTION - A (Marks 15
Oid Syllabus

NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use iead pencil.

Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i)

(ii)

(i)

(iv)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)
(xiii)
(xiv)

(xv)

Therangeof R={(1,0), (2,1), (4,3)} is:

A {2,3,4} B 01,3} C. {1,2,4} D. {1.2,3}

f (x-2,2)=(4,y+1) , then xand y will be :

A 2,3 B. 6,3) C. 6.1) D. (2,1

If Vx,ye R either x<y orx=y orx>y,thenitiscalled property.

A Trichotomy B. Transitive C. Reflexive D. Symmetric

If x=+/3+2, then L

X
A 2-3 B. 4 c.  2+3 D. -3
The common form of 2.35x107% is:
A 500 B. 700 C 0.0235 D. 1000
The characteristic of log19 is:
A 0 B. 10 C. 2 D. 1
7-V2)T+2)=_
A 47 B. 48 C. 36 D. 25
@ +b =@+ ). ).
A a*+ab-b® B d*-ab-b* C.  d*+ab+b® D.  a*-ab+h’
What will be added to 9a* —12ab to make it a complete square?
A 4 B, —4b’ c.  -leb’ D 16b°
1
X =
A. [x+3y] B. [x+2y] C. [2x+y] D. [2x+3y]
3
Order of | is:
A, Ix1 B. 2%x2 C. 2x1 D. I1x2
There can pass through two points.
A One line B. Two lines C. Three fines D. Infinite lines
If a transversal cuts two parallel lines, the pairs of corresponding angles so formed are:
A One B. Two . C. Three D. Four
The angles of the base of an / a triangle are congruent.
A Equilateral B. Scalene C. Isosceles D. Acute-angled
If vertex of a triangle is a point of concurrency of its altitudes, then it is triangle.
A An acute-angled B. A right-angled
C. An obtuse-angled D. An equilateral

For Examiner’s use only:

Totai Marks:

15 |
Marks Obtained: D
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Roil No.

Answer Sheet No.

Sig. of Candidate:

Sig. of Invigilator:
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MATHEMATICS SSC-I @

Old Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibiy. Log tabie will be provided on demand.

SECTION - B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=236)
) FU={xjre NAx<100}, A={2,4,6,.....,100} , B={1,3,5,.......,99}, then show that
(AU B’ = A° N B®

(i) If B={-1,-2,-3,-4} and 4={2,4,8) ,thenfind AxB and Bx A and find its number
of elements also.
(iii) If A={2,4,6} , B={0,3,5}, then find the function from the following relations. Also find the

kind of the function: R, = {(4,0) , (2,3}, (8,0)}, R, ={(2,0) ,(4,3), (2,5)}
b+t -a

b-vb* -a*

x y [
v)  Simplify: n"ﬁ— x n‘/f— x n}“—
a’ a’ a*

{vi) For 1 =10 +3 . evaluate:
p

a  (proy b (p—)
p p

(iv) Simplify:

{vii) Find the value of x when log 625 5=2x

(vii)  Convert the wavelength 4.5x10°cm of blue light into meters and write in common form.

33733
3256.4
1

{x) fa=1,b=1,c¢=3, thenfind the value of 3a> -k-;—b3 +§c3 -16

(ix) Evaluate with the help of logarithms:

{xi) Find the value of x> +y3 +z° —3xyz, if x° +y2 +22=77 and x+y+z=15

(xii)  Findthe value of 8xy (x> +)”) when x+y=6 and x-y=4

(xii) Factorize:  8v®+7+° —1

(xiv)  The product of two polynomials and their L.C.M. are  x* +5x° —=x2 —=17x+12 and
X} +6x2 +5x—12 respectively. Find H.C.F,

(xv)  Find square root of : (x2 +i2)2 -4 (x+l)2 +12, (x=20)
x x

{xvi) If s 9 35 then find th 1 f d
= , en nn e value O an .
3 p|]7]7]10 o panta

4 -1 51
(xvii)  Are the following pair of matrices multiplicative inverse of each other? [ 3 ] , [ }

5 34
. . 2x-5y-1=0
(xviii) Use matrices to solve the equations;
3x+4y=36
SECTION — C (Marks 24)
Note: Attempt any THREE questions. Ali questions carry equal marks. (3x8=24)

Q.3  Prove that the sum of the measures of the three angles of a triangle is 180°.
Q.4  Prove thatin a parallelogram;

a. Opposite sides are congruent. b. The diagonals bisect each other
Q.5 Prove that any point on the right bisector of a line segment is equidistant from its end points.

Q.6 Draw altitudes of ALMN in which: mZL=60°, m4M =45 , mLM =7.lcm
{Also write steps of construction)
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I | l | l Answer Sheet No. [@

Sig. of invigilator.____

............................................................................................................................................................................

PHYSICS SSC-I

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i} L=
A. 1000dm®> B 100 dm’ c.  10dm’ D.  ldm®
(ii) An interval of 200 us is equivalent to:
A 025 B, 0.02s c.  2x10™s D 2x107%
(iiii) Uniform velacity with which paratrooper comes to ground is called velocity.
A Orbital B. Horizontal C. Terminal B. Variable

(iv) A ball is thrown vertically upwards. its velocity at the highest point is:

A. 10ms™! B. Zero C. 10ms™2 D. None of these
(v} A string is stretched by two equal and opposite forces 10 N each. The tension in the string is:

A, Zero B. 5N C. 10N D. 20N

(vi) St unit of momentum is:

A kg B. ms”! C. kgm D. kgms™

(vii) The number of forces that can be added by head to tail rule is:
A 2 B. 3 C. 4 D. Any number
(vili)  The orbital speed of a low orbit satellite is:

A Zero B. 8ms™! C. 800 ms™! D. 8000 ms ™!
(ix)  1hp=

A 846 W B. 746 W C. 646 W D. 546 W
(x) What should be the approximate length of a glass tube to construct a water barometer?

A. 05m B. Tm C. 25m D. 11m
(xi}y  Temperature at sun’s surface is:

A 6000 °C B 5000 °C

c.  4000°C pD.  3000°C
{xii) Metals are good conductors of heat due to the:

A, Free electrons B. Big size of their molecules

C. Small size of their molecules D. Rapid vibration of their atoms

For Examiner’s use only:

Total Marks: [-1_?]
Marks Obtained: l:]
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PHYSICS SSC-| 47 )

s

(Revised Syllabus) g

Time allowed: 2:40 Hours Total Marks Sections B and C: 5§3

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=33)

(i)
{ii)

(i)

(iv)
(v

(vi)
(vii)

(vili)

(ix)
x)

(xi)
(xii)

(xili)

(xiv)
(xv)
Note:
Q.3 a
b.
Q.4 a
b.
Q.5 a
b.

Which safety equipments a school laboratory must have?

What is a stop watch? What is the least count of a mechanical stop watch you have used in the
laboratory?

Define:

(a) Uniform velocity (b) Acceleration (c) Rotatory motion.

Differentiate between Speed and Velocity.

How does washing machine dryer work?

When a gun is fired, it recoils. Why?

Differentiate between Torque and Couple.

A man is pulling a troliey on a horizontal road with a force of 200 N making 30° angle with the road. Find
the horizontal and vertical components of its force.

What is meant by gravitational field strength?

Name three devices that convert electrical energy into mechanical energy.

A car weighing 12 kN has speed of 20 ms™'. Find its kinetic energy.

How does hydrometer work?

The density of air is1.3kgm™ . Find the mass of air in a room measuring 8m x 5 mx 4 m.

Wirite names of three factors on which evaporation depends.
What is meant by thermal climbers?

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Define Significant figures. Which rules are helpful in identifying significant figures? (06)
Explain the term couple. (04)
State and explain Newton’s Law of Universal Gravitation. (06)
Define kinetic energy and derive its relation. (04)
What is the importance of large specific heat capacity of water? Explain. {06)

How much heat is lost in an hour through a glass window measuring 2.0 m by 2.5 m when inside
temperature is 25 C and that of outside is 5 °C ? The thickness of glass is 0.8 cm and the value

ofk for glass is0.8W m ™' K71, (04)
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'Roll No. | { J [ I l ‘ Answer Sheet No. g&'

% ; Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

PHYSICS SSC-l
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B / C/D. Each part carries one mark.

)] N=

A kgm B. kgs™2 C. kgms™! D. kgms™>
(ii) Which one of the following is the smallest quantity?

A 0.01g B. 2mg C. 1000 ug D. 5000 ng
(iii) A LIDAR gun is light detection and ranging gun.

A Velocity B. Speed C Acceleration D. Momentum

(v)  Atrain is moving at a speed of 36 kmh™" . its speed expressed in ms ' is:

A 10ms™! B. 20ms”! C. 25ms™! D. 30ms™!
{v) =
P,-P
14
A P, —P B. P-P C S D.
f i i b ! Pf _P
!

(vi) Newtron's first law of motion is valid only in the absence of:
A Force B. Net force C. Friction D. Momentum

(vii) Aforce of 10 N is making an angle of 30° with the horizontal. Its horizontal component will be:

A 4N B. 5N C. 7N D. 87N
(viii)  The value of g at a height one Earth’s radius above the surface of the earth is;
A 29 B. %g C. % g D. %g
(i) The work done in lifting a brick of mass 2 kg through a height of 5 m above ground will be:
A 257 8 107 c. 501 D. . 100])
(x) At sea level, the atmospheric pressure is about;
' A, 101Pa B. 300 Pa C. 300,101 Pa D. 101,300 Pa

(x)  Whatwill be the value of 8 for a solid for which @ has a value2x10° K ~'2
A 2x107° K™ B 6x10°K! ¢ 8x107° k! . 8x10° K™
(xii) Rooms are heated using gas heater by:

A Conduction only B. Convection and Radiation
C. Radiation only D. ‘Convection only

For Examiner’s use only:

Marks Obtained:

Total Marks: [E
[ ]
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PHYSICS SSC- A
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x 3= 33)

0
(i
(i)

(iv)
v
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)

(xiii)

(xiv)
(xv)
Note:
Q.3 a
b.
Q.4 a
b.
Q85 a
b.

On what factors does the accuracy in measuring a physical quantity depend?
How can we measure the volume of an irregularly shaped solid?

Find the retardation produced when a car moving at a velocity of 30 ms™" slows down uniformly to

15ms™! in 5s.

Differentiate between Scalars and Vectors.

Write three methods of reducing friction.

Why do passengers standing in the bus move outwards when a bus takes a sharp turn?
Why can a body not be in equilibrium due to a single force acting on it?

Find the perpendicular components of a force of 50 N making an angle of 30° with x-axis.
What is meant by GPS?

Why are fossil fuels called non-renewable form of energy?

A 50 kg man moved 25 steps up in 20 seconds. Find his power, if each step is'16 cm high.
Why is plasma called the fourth state of matter?

The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.
Write three properties a thermometric liquid should have.

On what factors does the rate at which radiations are emitted depend?

SECTION — C {Marks 20)
Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)

Derive 2aS = v} —v? (06)

Discuss motion of two verticaily moving bodies attached to the end of a string that passes over a

frictionless pulley. (04)

Write a detailed note on determination of a force from its perpendicular components. {086)

On reaching the top of a slope 6 m high from its bottom, a cyclist has a speed of1.5 ms

Find the kinetic energy and the potential energy of the cyclist. The mass of the cyclist and his

bicycle is 40 kg. (04)

State and explain Archimedes’s principle. (06)

Explain the term Volume Thermal Expansion. (04)
—— 1SA 1507 (ON) —
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Roll No. l I l J T 1 ‘ Answer Sheet No. f?

Sig. of Candidate. Sig. of Invigilator.
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PHYSICS SSC-I
SECTION — A (Marks 12)

(Ol Syllabus)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

®

(ii)

(iii)

(iv)

V)

(vi)

(vil)

(viii)

(%)

)

(xi)

(xii)

The book Al-Manazir was written by:

A Al - Kundi B. Ibn-ul-Haithem

C. Alberuni D. Dr. Abdus Salam

Which one of the following is a derived unit?

A kg B. m’ C. Kelvin D. Moie
Spinning of Earth is a type of :

A Rotatory motion B. Translatory motion

C. Circular motion D. Vibratory motion

kgms™ is equal to:

A Joule B. Mole C. Newton D. Watt

An input of 500J has been provided to a machine. If the efficiency of this machine is 46%, then what
will be the output?

A 500J B. 225) C. 255J D. 2504
The centre of gravity of a triangular plate is the point of intersection of its:

A Sides B. Arcs C. Medians D. Vertices
if radius of circle in which object is moving, is doubled then centripetal acceleration becomes:
A Double B. Three times  C. Four times D. Half
Workdone will be zero if the angle between force and displacement is:

A 0° B. 45° C. 90° D. 30°

Sl unit of strain is:

A Newton B. Joule c Unitless D. Watt
The insect can walk over the water surface due to:

A Surface Tension B. Elasticity

C. Viscosity D. Power

0°C= °F

A 273 B. 100 C. 32 D. 0
Water has the least volume at the temperature of °C.

A 0 B. 4 C. 100 D. 273

For Examiner's use only:

Total Marks:

Marks Obtained:
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73)

PHYSICS SSC-I

(Ot Syllabus)
Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer hook. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B {(Marks 33}
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines.(11x3=33)
0] What is “Scientific Method”? Name its different stages.
(i) What is meant by scientific notation? Write the following humbers in scientific notation:
a. 0.0045 b. 145.7
(i) Define Co-efficient of static friction. What is its unit?
(iv) Establish and then state a relation between force and momentum.

) If a bali is thrown vertically upward under the action of gravity, then write the three equations
of motion for it.

(vi) Define “Couple”. Find the torque produced in a rigid body due to couple.

(vii) Name the energies produced by food in our body and how these energies help us.
(vii) If @=45° and F, =7N , then calculate the magnitude of F»

(ix) What is lever? State its principle.
x) The height of a satellite from the surface of the Earth is equal to the radius of the Earth. What will be

the speed of the satellite if it is moving in a circular orbit? (Given M =6x10** kg , R= 6.4x10%m)
(xi) Define *Vectors”. Sort out the scalar and vector quantities from the following:

Temperature, Torque, Weight, Work
(xii) Why are desert nights colder whereas the days are very hot?
(xiii)  What is meant by “Centre of gravity"? Briefly describe how you would determine, by experiment,

the “CG" of a piece of cardboard of irregular shape by means of a plumb line.
(xiv)  Explain under what conditions objects float on water surface and get submerged in water.
(xv)  Why is the outer edge of a road kept higher than the inner edge at a turn?

SECTION —~ C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a What is meant by “Wheel and Axle’? Find its mechanical advantage. (5)
b. Volume of the gas enclosed in a cylinder is 2m’ . What would be its volume if its temperature
is doubled by keeping pressure constant? (3)
c. Define the units of ‘work’ and ‘power’. (2)
24 a If two bodies of masses ‘ m," and ‘m,’ are connected with two ends of a string, which is passing over a

pulley in such a way that ‘ m," moves vertically downward whiie' m, ' moves on the horizontal smooth

surface towards the pulley. Find the values of Tension and Acceleration in it. )
h. A lead shot of mass 5g is fired with an air gun. If the velocity of the shot is 60ms™", what is its
momentum? 3)
c. Distinguish between speed and velocity. (2)
Q5 a State and explain “Boyle’s law”, Also draw its graph. (5)
b. The volume of a block of wood immersed in water is 900 cnr° and the biock is floating
in water. What would be the buoyant force of water on it? (Density of water =1000 kgm_3 ) (3)
c. Define Kinematics and Random Error. (2)
— 18A 1507 ——

Physics Annual 2015 56



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

- o Ol o) S 5
(Ol Syllabus)

53 Pyl P f‘J’ & 2.40 WA

[

LSy @ e $e 2 prae s w2 (M) lIE oo oy Q3RS lrerdialie il bl P 2 2
el nfinsibeiz £ S bpllr L S b(Sheot-B)2 212K

(332F) oo
(11x3=33) e\ s Enpipe LLAR (Ml kdioe

E LS BL e < K T 0

A At fin el ST G
1457 .o 0.0045 ..

2 by $ui S a S P STand i)

Ea LIF AL s ()

oS £ e e L PP oSt WS )

i g e KAl ERAS K i)

?ujf}!'rb’g/;_m ﬁjguété(energies) ﬁ}ldbi_nlﬁuff)w_m;.lﬁ (vii)

e dwd F B =N 0 6=45° (i)

ol spd L A (i)

YU §unin St Emlc Mol pf Ebobi L ALl fiveer i ()
(M=6x10"kg , R=6.4x10°m &)

N R -7~ TR RV (R Y 19 TR

S Lnplergs B ln UL Al i)

2 SL Ik B K L el Sess i fi S Sy ST " LA (i
~E f LI

St bl i ol Q:Z_;“__/Q,iz:éw?wuq/yu, (xiv)

T e bellusl i e A Grit LW Qs Shgdy (xv)

@040 proo

(2x10=20) e 2l udop B E Sy » <3
{05) _q)}#é’bétﬁ-‘-’c{w?ﬁ_,n/’g; “ J'-Cn I <A I
(03) LI TS e IR NS 2mt pdie el
(02) AL e &
ot 1 (e FSe (ST el it AUy il Sorsit Ty A AL Pzt v
(05) _g,f()'u"g‘,(ﬁ)’gi sl u:‘-’éulc‘_r/a‘fz.;/ﬁ ut{a}’l A My Ly SAEE
(03) ST 32 (160G e ALY Wi p S 5 S Adle T F
(02) -4%/"&)5 G sl by B
(05) bl g ol il e ISE S 0

(03) P S o Shin 1000 kgm ™ §REG e prtdie 900 em® pdob Atbfifsy o
(02) -gi:-#fd/ﬁxﬁ'{_ 2 u’@‘(}"f -

Physics Annual 2015 | ——1SA 1507 — 57



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

PTEI (UA 5Y) g2l
(15,4 H)Js

220 =

e L) rﬁy..;.d.—.;wJz_‘fugu/.-.LL@;JLV&)}/:L/J{;&‘;'#;M.Ll,f'w_.:m;;.{..-.yuzéul_;.d:udsr.b w2

e A2 0 020 3SE rerne 5 1 Bl 131 G SWIEL s Ay
G EFe oo lear )

g PE7 IR Uk e el
Wl fwireS (i)

B Y b e SuE
e UUUPOIE (G

e o 25 3 Jollury e S Ll
e Ve ML it e ()

2 - g -8 o e IS B
-‘4314..._0‘).* (v)

e el -z LY S Gn
?m(.:”"g, Fpifewbicakor™ ()

& - LZw -t &S - 47 J
Se L NP LT i)

=t - g b A o S|
sl onsde  (vii)

et'd‘/‘_v“lg - jr_/xd;)‘ "o Jesle s - ol e o

VS e A S ASFGElaly (%)

G o P ) St = Ll

b ) TN AP P G N L7

) - -t 0 S 12 |
e Slodiln ()

Jo L e T S L,
e T sibutd  (xi)

dor o Serr & Sir e oy
ue FWnTAL e AT (xiil)

<o ) db’ & 26 _—— il A

B LU n S B (xiv)

BWIEs -3 JIVIE P B o Wb

_q_EiJKUI,J :_.JPILJ"(};IUWEIJ {xv)
7 - $f - 17— BV |
Ao/ S o e
Urdu Compulsory Annual 2015 58

— 18A 1503 —



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

I- o vl ol (u‘ 5Y) 437

60 (v sl P o /J, 240 b

bl LB oy 4038 szl et o1 2e W prapn o w2
BT AN I

(344 puo
(12x2=24) leliznd Eppilea. LLAT (Aot Bls prie BN
ot PR )
e MY i S8R (i
L& LS e Ya &5V Ui icolgd (i)
el ()
s fusl Sl Szl (v)
e B e Z;JF;('UT’ L vi)
o dTus Tt (i
(loe ot iy ASSENA) el (il
(7 - L) Bl el (%)
e Wl Aadi JEE ()
UAAES 28 ()
(7 - WS (Ul bl Sl se (xii)
UL P e, (i)
g nl i s (xiv)
(5x2=10) ESn gy e ity -
Ll S AL ()
e e Sl e 35 (i)
L en OGS LSNP SIS e Gl
Fe® o ket
LS W e A ()
LA UWANSEE S5t e 5UL iy (v)

—e ST ity
o i
¥ ¢ Al

Page 1 of 2 (Urdu Comp)

Urdu Compulsory Annual 2015 59



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

(1/2+1/2+1+4=6)

2645 (¥
E I L Seni i P Lol 5T vy

! Lérbfé_ugﬁr K/J;’,-.Lnd;z_,lifufufuﬂw(’%(bfdﬁ.fé’_é W2 2 S
S IS BHS RSt et 2 v £ UL Ut B st U b8 L b
L BN Cra et fni-e o te 2P e n St Y

B AS e A 9y S It LE ST s P GT 3T B s s 2 asihs 2 THD
L2 S MBSIE PGS E VS pe p B g WS- riTSE S 2

NI APINS,

(11241/2+2+2=5) & CAS i L0 Tenz i

»t U':J’ul,:«}l‘;é'.ujj;? - i 29 Ubs sl e < U

= /b,irji.; W) ‘a;&(ﬂuﬁﬂ JELUE

HAfSY TS PR efbozdnbnes

e K o sul < (A < Py ‘¢; 03 ‘¢;’u

(14242=5) ECF G2t L Senz vt

Lo sle 2 e UL [Jﬁ - //[/éngu[

S T st Slres fot

ui‘-tg»wf;fc.u?/ul JJ/G ety

Ut e Ul LG A X

(5) -L[/:/f:J %.Q{Cﬁréjfj;!ﬂuwé U o

()

-Mbu&;‘f{}:'

(®) LSSt et P L ot
----- 1SA 1503

Urdu Compulsory Annual 2015

Page 2 of 2 (Urdu Comp)

-

e’
.

Ay

-
Y
-

..‘!/U'r

-Lﬁ}dly

60



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 1
	Page 2
	Page 3

